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Sub-Section Number: 1
Sub-Section Id: 335472138
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354725531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ‘Golconda Fort’ is located in which one of the following states? | “Miager fear Faiaias # 9 e § R

Correct : 1 Wrong : 0

Options :

#® Karnataka | @icwE

# Maharashtra | HgRTE

# Madhya Pradesh | meamey
4. ¢ Telangana | &=l

S L

Question Number : 2 Question Id : 3354725532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Name the tribal community which actively participated in the revolt of 18577 | 1857 @ fagis ® @i &7 & 9T
W aTel SATTCaTa! FYGT &7 A1 2T 37
Correct : 1 Wrong : 0

Options :

1. ¢ The Bhils | #fa

2. ® The Gonds | Mg
3. # The Korku | #g
4. ® The Bhaiga | &

Question Number : 3 Question Id : 3354725533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where are the farmous Dilwara Temples situated? | Wiekg GAaTeT Al w5l T &7
Correct: 1 Wrong : 0

Options :

# Madhvya Pradesh [ A W29
¢ Rajasthan | {1

# Karnataka | @ic®

# Maharashtra | HgRTE

o R

Question Number : 4 Question Id : 3354725534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which among the following is NOT a region of Madhya Pradesh? [ Faiaia # & @19 @1 83 meq nea # 931 87
Correct : 1 Wrong : 0

Options :

1. ¢ Chota Nagpur | FleT AgT
2. ¥ Malwa | ATAaT

3. ®¥ Bagelkhand | Fde@rs

4. ¥ Mahakaushal | AET@ISA

Question Number : 5 Question Id : 3354725535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who founded the Tata Institute of Fundamental Research? | TTeT Jayd STJaeT SET @l ST o @17

Options :

1. # 5.5 Bhatnagar | U9 U 92T
2. ¥ H.]. Bhabha | U= AT

3. ¥ M.N. Saha | UA.UF. 98T

4. ® V_Sarabhai | 9t GRS

Question Number : 6 Question Id : 3354725536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which national park will you find Shesh Saiva, a unique eleven-metre long statue of a reclining Lord

Vishnu? | fore TP I 8 ena a8 e e @ arfgd 1 /aRg Hiek ael WA, 9 247 @1 g
Correct : 1 Wrong : 0

Options :

1. ¢ Bandhavgarh National Park | @TeenTg T8I Jem

2. ® Fossil National park, Sahpura, M.P. | Siiared TETT J2H, 984, O.0
3. ® Indravati National Park, M.P. | Sgrad! T8I 3204, AW

4. # Borivali National Park, Mumbai | @iige! T8I I20, Jag

Question Number : 7 Question Id : 3354725537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is t%l?e unit of measuring energy requirements in the hurnan body? | A-a SRIT # 91 SMasAawarsii & g &t
THTS FAT 5

Correct : 1 Wrong : 0

Options :
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1. ® Joule | I

2. ® Erg | anf

3. ® Kilowatt | Tpattaie
4. ¢ Calorie | Fe

Question Number : 8 Question Id : 3354725538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where was the revolutionary, Chandrashekhar Azad, killed in a shooting encounter with the police in a public
park in February 19317 | wadl 1931 # U G- J2I # Jieid & an Meltan! gaws §, Wi dgaat g &1
Pyl AT T 417

Correct: 1 Wrong : 0

Options :

1. ¥ Allahabad | SaTgeTg
2. ® Varanasi | JRI0ET

# Gorakhpur | TREYY

4. ® Lucknow | TE4S

w

Question Number : 9 Question Id : 3354725539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“World Press Freedom Da}?' 15 celebrated on
HATAT 14T 81

Options :

1. ¥ 3rd May | 37

2. % 17thMay | 17 W&
3. ¥ 25th May | 25 A8

4 % 12thMay | 12 W8

Question Number : 10 Question Id : 3354725540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who presides over the joint sitting of the Parliament? | 6 &1 G da® @l STeALAT P19 FAT 57
Correct : 1 Wrong : 0

Options :

# President | TrEUld

# Vice President | 3 TgUid
' Speaker | a7y

# Chief Justice | g&I =Tty

ol L

Question Number : 11 Question Id : 3354725541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Wwhich one of the following commissions was ap%inted by the Central Governrment on Centre-5State

relationship in 19837 | 1983 ¥ thg-Tog Gaell W &g GRaR &RT 199 # & 1= 97 1T (g T 1 am?
Correct: 1 Wrong : 0

Options :

1. ¥ Rajamannar Commission | TRHAZ ATANT
2. # sachchar Commission | g€ =T

3. ¢ Sarkaria Commission | @CHTIAT ST

4. ¥ Shah Commission | 9ITg $T=NT

Question Number : 12 Question Id : 3354725542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is NOT included under GST regime in India presently? | Mafaiad # @ #19 adwe # AT
SHUEeT aee & S/Tid e 951 87

Correct : 1 Wrong : 0

Options :

1. # Agricultural produces | FiE IeUEA

2. ¢ Petroleurn products | UZiead Ie0TE

3. ¥ Telecommunication devices | FUE=IT JUHLT
4. ® Handicrafts | geaiden

Question Number : 13 Question Id : 3354725543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Resul Pookutty won an Oscar for ________. A FET T o Toly affeae Sftam
Correct : 1 Wrong : 0

Options :

1. #¥ packground music | Tre Gt
2. ® art direction | FT Mo

3. ® lighting | weTar

4. ¥ sound mixing | eai= R

Question Number : 14 Question Id : 3354725544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Where was the World Conference on Environment 2017 organized? 2017 # uaiawur W ke awie gl Saia
TR T TTT 91T 7

Options :
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1. ¢ New Delhi | =8 feelt
2. ® Bhopal | ¥T@
3. ® Indore | EaK

4. ® Jaipur | FAYR

Question Number : 15 Question Id : 3354725545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Kohira dam is located inthe ___________. | e, ___________ # e
Correct : 1 Wrong : 0

Options :

=t

. ¢ Kaimur District | 3¢ et
# Shivpuri | fSeEga

# Rewa | T

4. ® Dhar | g®

W

Question Number : 16 Question Id : 3354725546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following districts of Madhya Pradesh is Shahi Masjid and Moti Masjid located? | A neq &
Taferad et # & frad agt afesrg o Aidt e g7

Correct : 1 Wrong : 0

Options :

=t

¢ Vidisha | T

#® Singrauli | TRET
® Katni | ®eAT

4. #® Dhar | 9R

w o

Question Number : 17 Question Id : 3354725547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Bansagar Dam is built across the ________ river. | ST ael ________ T 0 TAtHT 3
Correct : 1 Wrong : 0

Options :

1. ¥ Narmada | JdgT
2. ® Godavari | TE@d
3. ® Chillar | Beat

4. ¢ Sone | 99

Question Number : 18 Question Id : 3354725548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which place is popularly known as the Kashrnir of Malwa? | ®1= T ®IT ATAT & BT & & § Aw g 57
Correct : 1 Wrong : 0

Options :

¢ Narsinghgarh | TRIEgTS
# Shivpuri | f&eaga
#® saragpur | ST
# Byawara | eI

o U L I

Question Number : 19 Question Id : 3354725549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is Jhinjhari village in Katni famous for? [ @<t # Zet me fore o nideg 87

Options :
General Maths and General Aptitude
1. ¥ Rockjcave paintings | @g™ | T&T REaErt
2. ® Shiva temple | 9T Afex
3. ® Waterfall | AT
4. ® Irrigation Project | =g uieiemT

Question Number : 20 Question Id : 3354725550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who constructed the Khajuraho temples? | @9RTs! Aiexl @ T foree o
Correct : 1 Wrong : 0

Options :

#® Maurya | 914

# Gurjar Parihar | TR HidgR

1,
5
3. ® Shank Satvahan | 9% @@ag-
4. ¥ Chandel | =2

Section Id : 335472139

Section Number :

Section type : OnlineMandatory or Optional: MandatoryNumber of Questions:
Number of Questions to be attempted:

Section Marks:

Display Number Panel: Yes
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Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472139
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Five students obtained 14, 12, 18, x and 20 marks in an exarm. If the average marks of the group are 15, find

the ;%ue of x? | Ut Tdemdf uew uteT & 14, 12, 18, x 3K 20 2/ WH X4 3 Ale 45 & f16q 8/ 15 3, T x & T @f
STd

Correct : 1 Wrong : 0

Options :

® 12
® 13
v 11

o

® 14

Question Number : 22 Question Id : 3354725552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Look at the string EXAMINATIONSEEAMINATIONS ... EXAMINATIONS with EXAMINATIONS repeated 10 times.
In stage 1, letters in even position are deleted. In stage 2, again letter in the even position in the residual string
are deleted. This is repeated till you are left with a sir;gle letter. What isit? | 97
EXAMINATIONSEXAMINATIONS ... EXAMINATIONS @7 2 Sa# foF EXAMINATIONS @t 10 I 52 81 TROT 1
o qw feafaat & argret @1 ger AT a1 2’or 2 # 9 g § o) gu siaRt # & o aw R & srgrt @ ger R A ) 9% a9 aw
IR SATAT & el doF 1o SITOek UTe STahedT ST 51 15 AT 81 g &7 57

Options :

1. ¥ M

2. 8N

3 %]

4 Vv E

Question Number : 23 Question Id : 3354725553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sita began reading 6 pages of her book on the 1st day, 9 pages on the 2nd day, 12 pages on the 3rd day, 15
pages on the 4th day, and so on. How many pages will she read on the 10th day, if she continues in this

pattern? [ HqT 7 ugel T ST qEdw & 6 UF g ST fordl, gae fa 9 u, et fd 12 gg, = fe 15 g, ok oy it mar
=T T AT o Tl Ul # ST 251 8, a1 g 10af o Topart g wafte

Correct : 1 Wrong : 0

Options :
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1. ¥ 33 pages | 3378
2. ® 40 pages | 40 7¥
3. ¥ 42 pages | 42 7%
4. ® 45 pages | 45 7%

Question Number : 24 Question Id : 3354725554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The prime numbers between 10 and 40 are ______. { 10 3T 40 & AL =T GEaTell &l §&ar ______ 2l
Correct: 1 Wrong : 0

Options :

L% 7
2.¢¥8
g% g
4 % 10

Question Number : 25 Question Id : 3354725555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the remainder when x* — 3x® + 4x2 — 7x + 6 is divided by x — 2?7 /g x* - 3x* + 42 -

7x+ 6 x—2 @R fasnfora fRar Smar § ar Auwe T giar 87

Correct : 1 Wrong : 0

Options :

!
{
o

Question Number : 26 Question Id : 3354725556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

29th Dec 17 Shift 1



29th Dec 17 Shift 1

Which of the following polynomials has x+ 1 as a factor? /fFeafeiiaad & & HleT E§TI?:

& x+ 1 Teh IOTES &7
Correct: 1 Wrong : 0

Options :

L xP+2x24x+1

5 ® x*4+3x3+3x%+x+2

3 o x3—x2—(2+\/§)x—\/§

4w 3x°+3x%+2x-2

Question Number : 27 Question Id : 3354725557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

V3 4B, s

B2

Correct: 1 Wrong : 0

Options :

-
%
o | L

w
S
S

NN
&
Sl
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Question Number : 28 Question Id : 3354725558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Vv0.4=7
Correct: 1 Wrong : 0

Options :

1. ¥ 0.02
28 P

3. % 0446
4. ¢ 0632

Question Number : 29 Question Id : 3354725559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Find the average. | sffad faiom

17, 70, 30, 39, 19
Options :
1% 32
2. % 33
3. ® 34
4 ¢ 35

Question Number : 30 Question Id : 3354725560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An area of a trapezlum with parallel sides S cm and 7 cm and distance between themequal to 6 cmis: | 39

QHeIE T FAGA AT B, e GG Y S GUT e 7 QT TUT g ot 1 g2 6 JHt

Correct : 1 Wrong : 0

Options :

1. ¥ 12sq.cm | 12 arigdr
2. ® 210sq.cm | 210 ariaHdT
¢ 36 sq.cm | 36 arEdr
#® 105sq.cm | 105 ariaHr

w

-

Question Number : 31 Question Id : 3354725561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A man loses 20% of the money he had. After spending 80% of the remaining money he is left with Rs. 80. How
much money did he have initially? | U J&T = I U 1 =118 HT 20% Ter Y SR o S0% 0 T o WalTd
JHF U S0 T A9 T WP H IqF UT a1 e ofi?

Correct: 1 Wrong : 0

Options :

® Rs. 1250 [ 1250 T4

#® Rs. 1000 [ 1000 T4
#® Rs. 750 | 750 T0&

. ¥ Rs. 500 |{ 500 ¥4

el R

Question Number : 32 Question Id : 3354725562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of present ages of Ram and Bala is 1:3 and three years back the ratio was 1:5, respectively. What will
be the present ages of Ram and Bala? | T 3 aTaT @l gd 819 13 &7 Sguid 1:3 8 s d 19 a9 gd arguma #ua: 1:5 9m
T 37 Tt @t ST T T BTT?

Correct : 1 Wrong : 0

Options :

¢ 6and 18 years | 6 3T 18 ¢
#® 1and 3years [ 1 w3 ad
# 2and 6 years | 2 36 a9
#® Sand 15 years [ 5 8T 15 ¢

o R

Question Number : 33 Question Id : 3354725563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

4 is thrice as good workman as B. A can finish a piece of work in 40 days less than B. In how many days will
they together be able to do the work? | A, B @t o 19 AT A AT | UF F B GH IRA T A, BH40 T aw A
THAT 3| ST @ U T1 F G Fed | fopa= o a0

Options :

1. ¥ 12days j 12+
2. ¥ 15days | 15 &7
3. % 18days | 18 A
4. ® 20days | 20 e

Question Number : 34 Question Id : 3354725564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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€ years ago, the father’s age was four times the age of his son. The total of the ages of the father and the son
after 6 years will be 54 years. What is the father’s present age? | 6 a¥ Udl, TiaT & g 39 Y7 & 311 1 R 77
6 Y weTd TUaT o g7 &1 et a1y 54 o giin foar &t 3 fepat 87

Correct: 1 Wrong : 0

Options :

1. ¢ 30 years | 30 a4
2. ® 36 years | 36 a4
3. ® 24 years | 24 4
4. # None of the above | Iud® # & HIE 51

Question Number : 35 Question Id : 3354725565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If three numbers are chosen from 3, 4, 5, 6, 7, 8, 9, 10, 11, such that their sum is 25, then the largest number
possible in such a setis___. [ 9i¢ 3,4,5,6,7,8,9,10,11 ﬁﬁaﬁwmsﬂmwzﬁwg‘ﬁﬁmzﬁnzs ARGLEL

T ¥ ST ead S dT_____ I
Correct : 1 Wrong : 0

Options :

v 11
® 10

®9
3

o R

Question Number : 36 Question Id : 3354725566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If x + 2/x =2x_then what is x2? / If¢ x+ 2x =2x drx? &1 %?

Correct: 1 Wrong : 0

Options :
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1. 8 4
2.V 2
3 #3

| =

Question Number : 37 Question Id : 3354725567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If A764B7 is divisible by 9, then the least value of A+Bis___. | Ii¢ A764B7, 9 & [av=a § 91 A+B @7 Seudd AT

Options :
1.v3
2. %5
g% g
4 8 12

Question Number : 38 Question Id : 3354725568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the followin%cannot be a pair of numbers, if H.C.F. of two numbers is 257 { 4 &1 §eamsi &7 Agad
TEMacd 25 §, a1 99 # & %19 97 ag gansll &1 g T8 gl awd1?

Correct : 1 Wrong : 0

Options :

1. ¥ (50, 157)
2. % (150, 250)
3. ® (125, 175)
4.

® (50, 150)

Question Number : 39 Question Id : 3354725569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The price of a watch is Rs. 450. It further increases by 30%. What is the new price of the watch? | UwF g1 &1
HIHT 450 T0 71 Tg [T 30% a5 ATdT 21 UST &I 8 HIAT F4T 57

Correct: 1 Wrong : 0

Options :

1. ¥ Rs. 540 | 540 703
2. ¥ Rs. 595 | 595 74
3. ¥ Rs. 570 | 570 74
4. ¥ Rs. 585 | 585 704
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Question Number : 40 Question Id : 3354725570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the largest three-digit number which gives a remainder of 2 when divided by 3, 4, and 5. | 39 17 &
HEaH 6T &1 AT ¢ T4 3,4 3T 5 ZRT TTvTeg e I duhe 2 THeaT 3

Correct: 1 Wrong : 0

Options :

1. % 902

2 ¢ 962

3. % 992

4. # None of the above | IU® # & P 51

Section Id : 335472140

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472140
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A g IgRa ani g -

Correct : 1 Wrong : 0
Options :

General Hindi

Question Number : 42 Question Id : 3354725572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

Options :

Question Number : 43 Question Id : 3354725573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FEWOT o 3T U 211 @ Tera=l Tl | Tt Tora T 27
Correct : 1 Wrong : 0

Options :

1. ¥ 7
2 ® g
3 8 a3z
4. ¢ &

Question Number : 44 Question Id : 3354725574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T e H Tore TR i Srgig B 7
Correct : 1 Wrong : 0

Options :
1. ® s g

2. ¥ wgw i walelt
4. ¥ fgea oI Herelt

Question Number : 45 Question Id : 3354725575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘O UF T 51 oran’ 39 ard § I T @ o i
Options :

1. ¥ o3

2.V @

w
8 &
&,

s
%
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Question Number : 46 Question Id : 3354725576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

RERCAREIEEIGIRTE R R -

Correct : 1 Wrong : 0

Options :

1. ¢ a9
2. % g
4. ® gETET

Question Number : 47 Question Id : 3354725577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tt U 3@T 9 AT G & 6 U Jeg Mg H A FT AT S
Correct : 1 Wrong : 0

Options :

1. ¢ auRed

Question Number : 48 Question Id : 3354725578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Telea F e e Mg A Fm arg?

Correct : 1 Wrong : 0

Options :

1. 8B g2r+eg

2. ® Tg+ 337
3. % g+ 3
4 ¥ I+ 37

Question Number : 49 Question Id : 3354725579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ST HT AN e FE H @ T AT E?

Correct : 1 Wrong : 0

Options :
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1. ® gamr
2 ¢ g
® ATy

w

Question Number : 50 Question Id : 3354725580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

U0 T A eg Mg A F P AT 8?7
Options :

1. ¢ qrg

2. % g

3. ¥ gy

4. % gy

Question Number : 51 Question Id : 3354725581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T WO | a7 Seg, (Mg W | @I AT 37
Correct : 1 Wrong : 0

Options :

<

¢ S
i
4 ® TR

W
8

Question Number : 52 Question Id : 3354725582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TMiiET geg # g # § #1991 99 87

Correct : 1 Wrong : 0

Options :

1. ® pHyRY qATE
3. ¢ qoy GHE

4. ¥ gty gamE

I3
-

Question Number : 53 Question Id : 3354725583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘G AT Tk FT sf g A g @ A g?

Correct: 1 Wrong : 0

Options :
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1. ¢ Wiz iy T9emag s
2 & e T
3. & o # e W
4. ® F ¥ pAGHET

Question Number : 54 Question Id : 3354725584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U BT g T T A G RITATR?

Correct: 1 Wrong : 0

Options :

1. ¢ Tt
2. ® ugiy
® st
TrodT

AW

Question Number : 55 Question Id : 3354725585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

] e & ot
gﬂgﬂﬁﬁﬁ%ﬂmm|

Al H Mg A A BT AT 87
Options :

1. ¥ Fdeg ™

2. ® g@wE

3. % gih g

4 ¢ dr™

Question Number : 56 Question Id : 3354725586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

"ST TRIH T 10 o, H A

H I 9T SR 3l Tol [dded gy

Correct : 1 Wrong : 0

Options :
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1. ® ®UF AAFR
2. ® H3g AFR
3. ¢ 29 aEFR

4. ® IeUYT SAFR

Question Number : 57 Question Id : 3354725587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T STeg | I AT GATT & -
Correct: 1 Wrong : 0

Options :

1. ¥ gzauE

2. ® gy auE
3. ® et Wg @A
4. ¢ Feuey quTed

Question Number : 58 Question Id : 3354725588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

oo ® S AT Uit ® § SUAT SIGET & ITEC0T @1 adTey -
Correct: 1 Wrong : 0

Options :

1. ¥ qry g%a G& 9T T

2. ¢ Tg SidET |t s A # #T

3. ® @ Ug Al € WA, 7Y GF Aad G TRT
4. ® | AT QIR AR § g1, €@ F e we # 95 @r

Question Number : 59 Question Id : 3354725589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

' T ! P AT R -
Options :

1. % dg

2 % gwdrg

3. ® i

4 ¢ 9

Question Number : 60 Question Id : 3354725590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

'SpATE H ORI U qaTe)
Correct: 1 Wrong : 0

Options :

29th Dec 17 Shift 1



29th Dec 17 Shift 1

1. v 3

2. % 3

3. %%

4 8 g7z
Section Id : 335472141
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Rural Econory and Panchavati Raj

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472141
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich one of the following functions come under the purview of Janpad Panchayats? | Fgiai@d & & &9 a1 @
AT G & ST H 7T 27

Correct : 1 Wrong : 0

Options :

# Maintanance of local streets | TG GS®! &1 TEXET

#® Sanitation | TEEFdT

¢ Agriculture & Social Forestry | §T8 3T GAT® arf=es!

# Providing public health facility | ST TaTeey Glaem HgM T

ol S

Question Number : 62 Question Id : 3354725592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What was the name of the rograrmme introduced in Dewas district for Promoting wornens’ participation at

Panchayat level. | e # 31t T U TG U HIIEIRT ST agTaT o o 1ol ST Top T STiend T TH T 977
Options :
1. ® Sakhi Samman | 9@ G
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2. ® Nari Jagran | 9T JTROT
3. ¥ Mahila Uththan | AigaT Ieem=
4. ¥ Sakhi Pehal | 94T uga

Question Number : 63 Question Id : 3354725593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of Agri Export Zones in Madhya Pradesh ? | e igsr # UY UaUle S &7 I540 F41? 57
Correct : 1 Wrong : 0

Options :

1. ® Export agricultural machinery | g A= @7 F=fa #w=r

2. ® Export agricultural technology | F q@-a! &7 Haid T

3. ¥ Increasing export of a particular produce | Tt fafder seureg & faia & agia &=

4. ® Import produces for processing and then export | ITUTE! HT TEEHRIT & Tol7 SITTa AT T e Raia @

Question Number : 64 Question Id : 3354725594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which district in Madhya Pradesh produces maxirmum wheat? | Bed UG &7 #14 a7 FaT srféepad g @7 Ieure FedT

Correct : 1 Wrong : 0

Options :

1. ¥ Hoshangabad | glang
2. ® Harda | gaf

3. ® Raisen | @

4 # Khandwa | @gar

Question Number : 65 Question Id : 3354725595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tejasvini Gramin Sashktikaran Yojana pertains to | d9ea=T UTHIT TG e T Hgieiad & Heted &
Correct: 1 Wrong : 0

Options :

1. ¥ Providing education to rural girls | TTHIT aierersi & TheT wee #ear
2. ¢ Economic, Social and Political empowerment of wornen through self-help groups in select districts |

AT et § Tao-agrIaT Ggg! o ATEH 9 Aigarell @ s, |t sk Te e 6
3. ¥ Providing assistance for marriage of rural wormen | TTHIT AfgaT ¥ e & @0 G5 v #T
4. ® promoting literacy among rural women | TTHIVT ATZATSH & AeT QI4RAT &1 9§11 AT

Question Number : 66 Question Id : 3354725596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which armong the following states is the largest producer of groundnut in the country as in 20167 | ag 2016 &
mw&aﬁ%ﬁﬁawﬁ%ﬁmmmmmm@

Correct: 1 Wrong : 0

Options :

1. ¥ Maharashtra | FERSZ
2. ® Uttaranchal | Io0=d
3. ¥ Gujarat | ToRIT

4. ® Chhattisgarh | FdaTg

Question Number : 67 Question Id : 3354725597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the target age group under Deendayal Upadhyay Gramin Kaushalya Yojana? | ST JUTET TTHI0T
FIEAT AT & SfaTia ST &l /T 7

Correct : 1 Wrong : 0

Options :

1. # No age restrictions | s 3T &e/d g1
2. ® Below the age of 15 | 15 o & ¥ g
3. ¥ 15t0 35 years { 1535 a8

4. ® Above 35 years | 35 a4 & 3Tdw

Question Number : 68 Question Id : 3354725598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following agencies conducts election to the local bodies? | THRATRET # & ®19 AT U SATHEHT

Correct : 1 Wrong : 0

Options :

1. ¥ National Election Comrnission | TP etz smam
2. ¢ State Election Commission | T4 Hatae i

3. # Local bodies themselves | ®IH e @2

4. # The Government | &K

Question Number : 69 Question Id : 3354725599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

Options :

1. ¢ New Delhi | 7% fewelt

2. ® Kanpur | #Hg¢

3. ® Indore | EgR

4. # Thiruvananthapuram | fdesHaqRy

Question Number : 70 Question Id : 3354725600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The National Commission on Farmers appointed in 2004 was chaired by______. | 2004 # fags® Frame! w g
STTIITT T Sregar ______ + @t offh

Correct : 1 Wrong : 0
Options :

o

1. # Arvind Panagariva | 3Ride Ui dT
2. ¥ M 5 Swarninathan | U009 GaTH =R

3. ¥ Kanwal Sibal | Fae [ead
4. ® Jagdish Bhagwati | ST WTad T

Question Number : 71 Question Id : 3354725601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In India, The Tea Act was enacted in_______. { AT | T ey # artafaatad o mar em

Options :

1. ¥ 1942
2. % 1949
3. ¢ 1953
4. % 1958

Question Number : 72 Question Id : 3354725602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As per the livestock census 2012, conducted by Ministry of Agriculture, Government of India, India was
ranked _________ in the population of cattle and goats in the world. [ TJeH JUHET 2012 & AR, YR GCFR &
FI AT ZRT AT, H meItdrt T sl & el H ARG @I ___ om

Correct : 1 Wrong : 0

Options :
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1. #® First | ugar
2. ® Tenth | g|ar
3. ¢ Second | &
4. ® Fifth | uram

Question Number : 73 Question Id : 3354725603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4 comprehensive and integrated programme of cattle improvement in India, which was launched during the
First Five Year Plan was the _____ scheme. | RT ¥ Telsit GaR @7 U 10 3R Uahigq wrdard, e Ugell Grad i< AT
& SR I T T _____ T <

Correct : 1 Wrong : 0

Options :

1. # Cattle Improvement | Weldft §UR

2. ® Cows and Buffaloes Improvernent | M= 3K #d gaw
3. ¥ Key Village | gemmd

4. # Community Development | Qg fawma

Question Number : 74 Question Id : 3354725604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For which of the following landmark events was the recommendations of Bhuria Comrmittee considered? |
7 weTelt o fory i afafd &t fwriat w e e wr ar

Correct : 1 Wrong : 0

Options :

1. ¢ Special provision for Panchayat in fifth scheduled area | fad sigdd 83 # vamad & oy o€ mmaems

2. ® Gram Sabha has been recognized as the foundation of the Panchayati Raj Systern | U=ITadT T WOTTEAT &
ST 3% &9 H TTH |97 F1 0T qT-20am

3 % O_&r%ef{third of the seats for wornen will be reserved in all the tiers | @ €T W Afgane & @0 uw-138E €T

4. ® Reservation for SCs and STs to be provided at all levels in the Panchayati Raj | Uamad! TF # @4 Tt Wy
YT ATd Ud ST AT @ Tog ST FeT= Ferm g

Question Number : 75 Question Id : 3354725605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

At a minimurm, how frequently are Social Audits under MGNREGS to be conducted? | =IAdd, AT & dgd aide
smET @ F i T s

Options :
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1. #¥ Every month | Ucd& ATE

2. ® Every three months | Wqa@® di- d1g
3. ¢ Every six months | Ucd& & Alg

4. ® Onceina year [ 74 # UF a

Question Number : 76 Question Id : 3354725606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwho is the Minister for Animal Husbandry, Fishermen Welfare and Fisheries Developrment, Cottage and Rural
Industries Department in Madhya Pradesh? | A2 U&d # U WTel, AFSIRT Hedll 39T Aqqd (@, Feik aT
FENT T @7 /T @ 37

Correct : 1 Wrong : 0

Options :

1. ¥ Rampal Singh | THUTA &g

2. ¢ Antar Singh Arya | @Y g o

3. # Archana Chitnis | sl Eei=g

4. # Om Prakash Dhurve | 319 WrTa gd

Question Number : 77 Question Id : 3354725607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Mahatrma Gandhi State Institute of Rural Development & Panchayati Raj located? | HgTchT et €T
FECIET STh ¥ SaeuHe US GTId | T Pl a7
Correct : 1 Wrong : 0

Options :

1. ¥ Bhopal | ¥ma

2. % Indore | T2KX
3. ¥ Gwalior | TR

4. ¥ Jabalpur | S&aqT

Question Number : 78 Question Id : 3354725608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Animal Wellness Programme launched by Government of India in 2017 is known as? | §3@R gR1 2017 #
ST o T Uy FETr Fie MRl T & A S ST g

Correct: 1 Wrong : 0

Options :
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1. #¥ Pashu Swaasthya Karyakram | U TGy #1deH
2. # Padhudhan Upachar Yojana | USee IUr AT
3. ¢ Pashudhan Sanjivani | e deita-

4. ¥ Gau Upachar Yojana | T IU=IR =T

Question Number : 79 Question Id : 3354725609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indian Institgte of % pices Research is located in ______. | AT T HETAT STJET GET (120 SEIS]e $ITF EaTgast

Zomputer Knowledge
Correct: 1 Wrong : 0

Options :

1. ¥ Madhya Pradesh | T s
2. ® Karnataka | ®ice

3. ® Chhattisgarh | sqdiaTg

4. ¢ Kerala | ¥a

Question Number : 80 Question Id : 3354725610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who is the target group of the programme ‘Roshni’ under Deen Dayal Upadhyaya Grameen Kaushalya Yojana’

? | S SATA JUTEAT TN AT & Tgq VI FTAFH PT AGT GHg R

Options :

1. ® Women living in forest areas | @< &31 # (g aTlt AlgaAT

2. ¢ Youths of left wing extremism affected areas | amausT IS | HATAd g3t & gar
3. ® People living in rural areas of north-east India | Y@t 9RT ¥ A a1t @

4. # Youths of Kashmir | HHi ¥ Zar

Section Id : 335472142
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section Id: 335472142
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_____ e W Uleoter &RT Uaad & foig oiee

_____ isa personal journal posted on the Web for access b}f the public. |
eI TR U At étﬂ'r

Correct : 1 Wrong : 0

Options :

1. ® Chat | oT

2. ¥ Message | €4
3. ® E-mail | $Ad
4. ¥ Blog | =@

Question Number : 82 Question Id : 3354725612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Norton isafan_____________. AR 2l
Correct : 1 Wrong : 0

Options :

1. ¥ malware | ATAIAT

¢ anti-virus software | TeI-aeed 9TFeaaT
3. ® firewall program | WT2Rare T

4. ® web browser | d FTIAT

RV

Question Number : 83 Question Id : 3354725613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Audio files are availablein ___________ formats. | SITEaT ®BTgel ______ BTHe H IUAH FIdT &l
Options :

1. ® PNG

2. ¢ MP3

3-8 TXT

4. ¥ PDF

Question Number : 84 Question Id : 3354725614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which sign indicates for multiplication in MS Excel? | UAUH UFdd H, ®14 97 g 0 &7 Teraa 37
Correct: 1 Wrong : 0

Options :
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1. # Forward slash | BRas &aqr
2. ® Percent sign | Widud @71 =g
3. ® Caret | ¥ite (@URFE

4 ¢ Asterisk | UFTREF (TRIE)

Question Number : 85 Question Id : 3354725615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is page orientation in MS Word 20077 | AU @2 2007 # gg srfic-m a7 37
Correct: 1 Wrong : 0

Options :

1. # 4 menu that sets the page margins and page size | TF B ST 0 AT 3 O |18 @1 freiig #ear g)

2. ¥ & menu that sets the direction in which the docurment is displayed or printed | U@ B ST el & s a7
oo 1 T @ e @war 81

3. # 4 menu that sets the background design of the page | T& B 1 U & apuTds T2 @1 i aear 3
4. # 4 menu for previewing the page before print out | UeF B I T 33T & Ugal U &7 qaidaie FaT o)

Question Number : 86 Question Id : 3354725616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is Internet stands for? | get-ic foraer o7 Ug® giaT 87

Correct: 1 Wrong: 0

Options :

1. # Inter Network | §2¢ Jead

2. ® Information Net | EFGTHIA AT

3. ¢ International Network | ST A
4. ® Information Network | SFBTHIA ead:

Question Number : 87 Question Id : 3354725617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
You organize files by storing themin ______. | AT BTEEE W ______ H TR Foh U Ted e gl

Options :

1. ¢ Folders | Blead
2. ® Archives | 3melies
3. ® Lists | foegq

4. ® Indexes | 278

Question Number : 88 Question Id : 3354725618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which command will you choose to convert a colurmnn of data into row in MS Excel 20077 | AT UFdd 2007 H,
ST ZTET o BTeH B I H SATRT P o Tolg oy i o e i

Correct: 1 Wrong : 0

Options :

1. # Cut and Paste | % Ug W&T

2. ¥ Right Click > > Paste Special » > Transpose | TEe daw® > > U TUAT > > TEuT
3. ®¥ Home tab click > >Paste | §IH 2a oo > > UeT

4. # None of the above | JURI® # & HIE A5l

Question Number : 89 Question Id : 3354725619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which operation you will perform if you need to move a block of text in MS Word? | UAUH T2 #, Ile M7 Tqee &
U el 1 SeR-FHT o AT AR &, a1 3T DI T HTH N7

Correct : 1 Wrong : 0

Options :

1. ¥ Copy and Paste [ ®TdT Ug U
2. ¢ Cut and Paste | @¢ U Uee

3. ® paste and Delete | Uee U fZelie
4. ¥ paste and Cut | Uz Ud &

Question Number : 90 Question Id : 3354725620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_________ is the shortcut key used to delete a file without sending to recycle bin. | e _STEHT FrAT T UGN,
Topdlt wrger T Reamgioret ol # ug=ny TEefie @ee & Ty fopam ST 81

Correct : 1 Wrong : 0

Options :

1. ¥ CTRL+ SHIFT+ DEL
2. ¥ ALT+ DEL

3. ¢ SHIFT+ DEL

4. ¥ CTRL +DEL

Question Number : 91 Question Id : 3354725621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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ASCII stands for: | ASCII &7 qof &7 &:
Correct : 1 Wrong : 0

Options :

1. # Asymrnetric Simple Code for Internet Interchange | SITRRTEH G FIE BT $04T @

2. ® american Simple Code for Internet Interchange | STWR@ FIA 1T B TTCA Setai

3. ¥ American Standard Code for Information Interchange | SMR&T 282 HIS BT TABHIT e

4. ® asymmetric Standard Code for Information Interchange | AR e 1T TR STHHIT L@

Question Number : 92 Question Id : 3354725622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which of the following is NOT an example of application software? [ 7% # & &7 Usr Urellora QTHeaT &1 ISR

T 27

Options :

1. ® Word processing | @2 wat@mT
2. ® Database | SEEW

3. ¥ DOS | Er3uE.

4. ® Spreadsheet | Tl

Question Number : 93 Question Id : 3354725623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The default paper size of a Word docurment is: | U% 2 STGgHC @1 lahiee U 1S 199 51aT 5.
Correct : 1 Wrong : 0

Options :

1. ¥ a1
2. ¢ 44
3 % A3
4 8 a2

Question Number : 94 Question Id : 3354725624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The servers which configures to provide connecting link between two distinct networks using different
Protocols or services are known as: | & e g 91 [dTHg HITIHTer 41 arsll 7 I 7 g0 & STonT- ST Aeaad & ved
FATFET Teeh WeT= e & Tolg BT edT 3l 59 =19 o &7 H ST 1T 5

Correct: 1 Wrong : 0

Options :
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1. ¥ Member server | WX §at
2. ¥ Gate ways | TiT a9
3. ® Applications server | Utellhad HaT

[

4. ® Firewalls | BRRard

Question Number : 95 Question Id : 3354725625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who provides the facility of mail servers to people? | g8 & @14, @ PT Hel T 1 Glarem TE FdT 57
Correct: 1 Wrong : 0

Options :

1. # Your supervisors | 3o guiassik

2. ® Universities | faraidema

3. ® Your colleagues | 3 @gaT

4. ¥ Big companies like Google, Yahoo, Rediff, etc. | 10T, ATg, WSH Seamie & AGT ST duf-ar

Question Number : 96 Question Id : 3354725626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The shortcut key used to edit the selected cell in M3 Excel is: | URUE UFdd #, Heide BT T Gel BT UIeT e o Toag Ty
ATewme Fil grdl &

Correct : 1 Wrong : 0

Options :

1. vV F2
2. 8 F5
3. ® F7
4. ¥ F11

Question Number : 97 Question Id : 3354725627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the spacing between the lines in the MS Word called? | TAUH T2 H ATGA1 & aliel & ST B AT TEA 57
Correct: 1 Wrong : 0

Options :

1. ® Vertical spacing | afe e eureT
2. #¥ Double space | Ead Td

3. # Single space | e g

4. ¢ Line spacing | @Tg €&

Question Number : 98 Question Id : 3354725628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In order to move from one sheet to another in MS-Excel workbook, one should click: | UAUT Uadd daregd § @
site @ gqa ofte ue S o ey, Fg o e @ g

Correct: 1 Wrong : 0

Options :

1. # Active cell | Ulgea aa
2. ® Scroll bar | 1A a1
3. ¢ Sheet tab | iz 2

4. ® Tab button | T &=

Question Number : 99 Question Id : 3354725629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut key is used to g%gl bold for the selected text in Excel? | Uada | Gelge 6T T 306 WX dles UTATS
B T AT 6 ST ) 3 A £

Correct : 1 Wrong : 0

Options :

1. ¥ Ctrl + X
2. ¥ Ctrl + B
3.8 Ctrl+C
4. 8 Ctrl+P

Question Number : 100 Question Id : 3354725630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Stora e devices that use magnetic tape as its method of reading and writing information is known as: | dg

. ST AU S0 T IULNT G2T D1 UG 3 Tolkas &1 ST qardier & &0 § 97d 1 &, 9 Peardl o
Options :
1. #® Cloud storage | FAEE i
2. ® Optical storage | sTtewd €T
3. ¢ Magnetic storage | AUR® it
4. ® Paper storage | UUT €S
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